## Geodesics on ellipsoids

## Jens Hoppe Royal Institute of Technology (KTH), Sweden

Bayrischzell Workshop May, 2015 Let us start with the trivial problem of determining geodesics in  $\mathbb{R}^N$ , considering the length *L* of paths from *A* to *B* as a functional of parametrized curves  $\vec{x}(t)$  connecting  $A = \vec{x}(\alpha)$  and  $B = \vec{x}(\beta)$ :

$$L = \int_{\alpha}^{\beta} \sqrt{\dot{\vec{x}}^2} \, \mathrm{d}t, \tag{1}$$

whose stationary points satisfy

$$\ddot{\vec{x}} - \frac{\dot{\vec{x}}}{\dot{\vec{x}}^2} (\dot{\vec{x}} \cdot \ddot{\vec{x}}) = \vec{0}.$$
 (2)

Choosing the parameter t to be the arc length, i.e.  $\dot{\vec{x}}^2 = 1$ , the reparametrization-invariant equation (2) reads

$$\ddot{\vec{x}} = 0, \tag{3}$$

corresponding to the Lagrangian

$$\mathcal{L}_0 := \frac{1}{2} \dot{\vec{x}}^2 \tag{4}$$

whose integral, in contrast with (1), is *not* reparametrization-invariant.

Suppose now that the motion takes place on an M dimensional hypersurface  $\Sigma$ , i.e. described parametrically by

$$\vec{x}\left(u^{1}(t),\ldots,u^{M}(t)\right).$$
 (5)

As then  $\dot{\vec{x}} = \dot{u}^a \partial_a \vec{x}$ , hence  $\dot{\vec{x}}^2 = \dot{u}^a \partial_a \vec{x} \cdot \partial_b \vec{x} \dot{u}^b =: \dot{u}^a g_{ab} \dot{u}_b$ , the expression for the length becomes

$$L = \int_{\alpha}^{\beta} \sqrt{\dot{u}^a g_{ab} \dot{u}^b} \, \mathrm{d}t = L \left[ u^a, \dot{u}^a \right], \tag{6}$$

where  $g_{ab}\left(u^{1},\ldots,u^{M}\right)$  could also be thought as intrinsically given, rather than being induced from  $\mathbb{R}^{N}$  as  $\partial_{a}\vec{x}\cdot\partial_{b}\vec{x}$ . Varying (6) gives

$$\ddot{u}^{c} + \gamma^{c}_{ab}\dot{u}^{a}\dot{u}^{b} = -\dot{u}^{c}\sqrt{\dot{u}^{a}g_{ab}\dot{u}^{b}}\partial_{t}\frac{1}{\sqrt{\dot{u}^{a}g_{ab}\dot{u}^{b}}} = -\frac{1}{2}\dot{u}^{c}\partial_{t}\ln\left(\dot{u}^{a}g_{ab}\dot{u}^{b}\right)$$
(7)

with

$$\gamma_{ab}^{c} := \frac{1}{2} g^{cd} \left( \partial_{a} g_{db} + \partial_{b} g_{ad} - \partial_{d} g_{ab} \right).$$
(8)

Again the (reparametrization-invariant) equations simplify significantly by choosing  $\dot{\vec{x}}^2 = \dot{u}^a g_{ab} \dot{u}_b$  (cp. (6)) to be constant, i.e. the parameter t to be, up to constant rescaling, the arc length of the curve (making the r.h.s. of (7) vanish). With this understanding, the coupled ODE:s

$$\ddot{u}^{c} + \gamma^{c}_{ab} \dot{u}^{a} \dot{u}^{b} = 0, \quad a, b, c = 1, \dots, M,$$
(9)

are usually referred to as 'geodesic equations' for a Riemannian manifold  $\mathcal{M}$  parametrized locally by parameters  $u^a(a = 1, \ldots, M)$ . In case

$$\mathcal{M} = \Sigma_{M}(\varphi) := \left\{ \vec{x} \in \mathbb{R}^{M+1} \middle| \varphi(\vec{x}) = 0 \right\},$$
(10)

one could alternatively take

$$\mathcal{L} = \frac{1}{2} \dot{\vec{x}}^2 - \lambda \varphi \left( \vec{x} \right), \qquad (11)$$

with Lagrangian equations of motion

$$\ddot{\vec{x}} = -\lambda \vec{\nabla} \varphi, \quad \varphi \left( \vec{x}(t) \right) = 0,$$
 (12)

where  $\lambda$  can be obtained by noting that (differentiating  $\varphi(\vec{x}(t)) = 0$  twice w.r.t. t)

$$\dot{\vec{x}}\cdot\vec{\nabla}\varphi\left(\vec{x}(t)\right)=0,\quad \ddot{\vec{x}}\cdot\vec{\nabla}\varphi+\dot{x}^{i}\dot{x}^{j}\partial_{ij}^{2}\varphi=0,$$
(13)

the first ensuring  $\dot{\vec{x}} \cdot \ddot{\vec{x}} = 0$ , the second implying

$$\lambda = -\frac{\ddot{\vec{x}} \cdot \vec{\nabla}\varphi}{(\nabla\varphi)^2} = +\frac{\dot{x}^i \dot{x}^j \partial_{ij}^2 \varphi}{(\nabla\varphi)^2},\tag{14}$$

so that

$$\ddot{\vec{x}} = -\frac{\dot{x}^i \dot{x}^j \partial_{ij}^2 \varphi}{\left(\nabla \varphi\right)^2} \vec{\nabla} \varphi \tag{15}$$

describes free motion on  $\Sigma_M$  (note that  $\vec{\nabla}\varphi$  is normal to  $\Sigma_M$  so that there is no tangential acceleration, hence no tangential force). Before discussing how to solve (9), resp. (15), for the case of an Ellipsoid, let us (Exercise I) note that for rotationally symmetric two-dimensional surfaces,

$$\vec{x}(u,v) = \begin{pmatrix} f(u)\cos v \\ f(u)\sin v \\ h(u) \end{pmatrix},$$
(16)

(9) can easily be solved by quadrature, as  $(9)_{a=2}$  (calculating  $g_{ab}$  and  $\gamma^c_{ab}$  from (16)),

$$\ddot{v} + 2\frac{f'}{f}\dot{u}\dot{v} = 0 \tag{17}$$

integrates to

$$\dot{v} = \frac{\text{const.}}{f^2\left(u(t)\right)} =: \frac{I}{f^2}, \tag{18}$$

allowing one to eliminate v from  $(9)_{a=1}$ , resp. (simpler!)

$$\dot{u}^{a}g_{ab}\dot{u}^{b} = \left(f'^{2} + h'^{2}\right)\dot{u}^{2} + f^{2}\dot{v}^{2} \stackrel{!}{=} \text{const.} =: 2E > 0.$$
 (19)

Inserting (18) into (19) yields u(t) by quadrature:

$$\pm \int \mathrm{d}u \sqrt{\frac{f'^2 + h'^2}{2E - \frac{l^2}{f^2}}} = t - t_0. \tag{20}$$

As Exercise II, note that (9) can be formulated in Hamiltonian form by considering

$$H = \frac{1}{2} \pi_{a} g^{ab} \pi_{b} = H \left[ u^{1}, \dots, u^{M}, \pi_{1}, \dots, \pi_{M} \right]$$
(21)

with canonical Poisson-structure, i.e.

$$\dot{u}^{a} = \frac{\delta H}{\delta \pi_{a}} = g^{ab} \pi_{b}$$
  
$$\dot{\pi}_{c} = -\frac{\delta H}{\delta u^{c}} = -\frac{1}{2} \pi_{a} \partial_{c} g^{ab} \pi_{b} = \frac{1}{2} \pi_{a} g^{a'a} \partial_{c} g_{a'b'} g^{b'b} \pi_{b} = \frac{1}{2} \dot{u}^{a} \left( \partial_{c} g_{ab} \right) \dot{u}^{b}.$$
  
(22)

One way of stating Jacobi's seminal result is that for an Ellipsoid, (21) separates in elliptic coordinates – which Jacobi originally [1838] defined (for M = 2) as angles  $\varphi$  and  $\psi$  in

$$x_{1} = \sqrt{\frac{\alpha_{1}}{\alpha_{3} - \alpha_{1}}} \sin \varphi \sqrt{\alpha_{2} \cos^{2} \psi + \alpha_{3} \sin^{2} \psi - \alpha_{1}}$$

$$x_{2} = \sqrt{\alpha_{2}} \cos \varphi \sin \psi$$

$$x_{3} = \sqrt{\frac{\alpha_{3}}{\alpha_{3} - \alpha_{1}}} \cos \psi \sqrt{\alpha_{3} - \alpha_{1} \cos^{2} \varphi - \alpha_{2} \sin^{2} \varphi}$$
(23)

and then, for general M, as (apart from  $u^0 = 0$ ) the zeros of

$$f(u) := \sum_{i=1}^{N} \frac{x_i^2}{\alpha_i - u} - 1 =: -\frac{\prod_{A=0}^{M} \left(u^A - u\right)}{\prod_{i=1}^{M+1} (\alpha_i - u)};$$
(24)

that f fully factorizes into real factors, with

$$\alpha_1 < u^1 < \alpha_2 < \ldots < u^M < \alpha^{M+1=N}$$
<sup>(25)</sup>

is easily seen by noting that

$$f'(u) = +\sum_{i=1}^{N} \frac{x_i^2}{(\alpha_i - u)^2} > 0.$$
 (26)

The (elliptic coordinates)  $u^a$  (a = 1, ..., M) coordinatize the *M*-dimensional Ellipsoid

$$\mathbb{E}_{M} := \left\{ \vec{x} \in \mathbb{R}^{M+1} \left| \sum_{i=1}^{M+1=N} \frac{x_{i}^{2}}{\alpha_{i}} = 1 \right\}.$$
 (27)

By a simple residue-argument

$$x_i^2 = \frac{\prod_A \left(\alpha_i - u^A\right)}{\prod_{j \neq i} \left(\alpha_i - \alpha_j\right)},\tag{28}$$

hence

$$4 \,\mathrm{d}\vec{x}^{2} = \sum_{i} x_{i}^{2} \left(\frac{2 \,\mathrm{d}x_{i}}{x_{i}}\right)^{2} = \sum_{i} x_{i}^{2} \left(-\sum_{A} \frac{\mathrm{d}u^{A}}{\alpha_{i} - u^{A}}\right)^{2}$$
$$= \sum_{i,A,B} \frac{\mathrm{d}u^{A} \,\mathrm{d}u^{B}}{(\alpha_{i} - u^{A}) (\alpha_{i} - u^{B})} \frac{\prod_{C} (\alpha_{i} - u_{C})}{\prod_{j \neq i} (\alpha_{i} - \alpha_{j})} =: 4g_{AB} \,\mathrm{d}u^{A} \,\mathrm{d}u^{B}.$$
(29)

Jacobi then used (four times!) that for any distinct numbers  $z_1, \ldots, z_{J>1}$ 

$$\sum_{j=1}^{J} \frac{z_{j}^{s}}{\prod_{k(\neq j)} z_{j} - z_{k}} = \begin{cases} 0 & \text{for } s = 0, \dots, J - 2, \\ 1 & \text{for } s = J - 1, \\ \sum \alpha_{j} & \text{for } s = J; \end{cases}$$
(30)

firstly (easy!) showing that the  $u^A$  are orthogonal coordinates, i.e.  $g_{A\neq B} = 0$  (the factors  $\alpha_i - u^A$  and  $(\alpha_i - u^B)$  can then be cancelled in (29), leaving in the numerator a polynomial of degree N-2); secondly (writing, for A = B, each factor  $(\alpha_i - u^{C\neq A})$  as  $(\alpha_i - u^A) + (u^A - u^C)$  and then having to always pick the second term, in order to avoid getting zero according to  $(30)_{z_i=\alpha_i}$ ) to show that

$$g_{AA} = \frac{1}{4} \sum_{i} \frac{\prod_{C \neq A} \left( u^{A} - u^{C} \right)}{\left( \alpha_{i} - u^{A} \right) \prod_{j}' \left( \alpha_{i} - \alpha_{j} \right)};$$
(31)

thirdly (with J = N + 1,  $z_i = \alpha_i$ ,  $z_{N+1} = u^A$ ) to conclude that

$$4g_{AA} = -\frac{\prod_{C \neq A} \left( u^A - u^C \right)}{\prod_i \left( u^A - \alpha_i \right)} \stackrel{(A=a\neq 0)}{=} -u^a \frac{\prod_{c(\neq a)}' \left( u^a - u^c \right)}{\prod_i \left( u^a - \alpha_i \right)}.$$
 (32)

Hence

$$H = -2\sum_{a=1}^{M} \pi_a \frac{q\left(u^a\right)}{\prod_{c \neq a} \left(u^a - u^c\right)} \pi_a$$

with

$$q(u) := \prod_{i=1}^{N} \frac{(u - \alpha_i)}{u}$$
(33)

describes geodesics on  $\mathbb{E}_M$ ; the simplest non-trivial case being N = 3, resp.

$$H = 2\frac{\pi_1^2 q\left(u^1\right)}{u^2 - u^1} - 2\frac{\pi_2^2 q\left(u^2\right)}{u^2 - u^1}$$
(34)

(note that  $q(u^1) > 0$ , while  $q(u^2) < 0$ ). The celebrated Hamilton-Jacobi method then solves the problem by first replacing the  $\pi_a$  by  $\frac{\partial S}{\partial u^a}$  (transforming H = E into a PDE) and making the separation Ansatz  $S = \sum_{a=1}^{N-1} S_a(u^a)$ , which indeed will produce solutions S depending on N - 1 free constants  $\beta_1, \ldots, \beta_{N-3}, \beta_{N-2} = \beta, \beta_{N-1} = E$ , provided the  $S_a$  satisfy

$$2S'_{a}(u^{a}) q(u^{a}) = E\left(\beta + \beta_{1}u^{a} + \ldots + \beta_{N-3}(u^{a})^{N-3} + (-)^{N}(u^{a})^{N-2}\right)$$
  
=:  $T_{N-2}(u^{a}; \beta_{1}, \ldots, \beta_{N-3}, \beta_{N-2} = \beta, \beta_{N-1} = E);$   
(35)

resp.

$$\pm dS_{a} = du^{a} \sqrt{\frac{T_{N-2}(u^{a})}{2q(u^{a})}} \stackrel{(N=3)}{=} \sqrt{\frac{E}{2}} \sqrt{\frac{(\beta - u^{a})u^{a}}{(u^{a} - \alpha_{1})(u^{a} - \alpha_{2})(u^{a} - \alpha_{3})}} du^{a}$$
(36)

hence

$$S = \sqrt{\frac{E}{2}} \sum_{a=1}^{N-1} \pm \int^{u^{a}} \sqrt{\frac{\frac{1}{E} T_{N-2}(u)}{q(u)}} \, \mathrm{d}u; \qquad (37)$$

 $\frac{\partial S}{\partial \beta}=$  const. (in accordance with action-angle coordinates) and (N = 3)

$$u^{1} = \alpha_{1} \cos^{2} \varphi + \alpha_{2} \sin^{2} \varphi, \quad u^{2} = \alpha_{3} \sin^{2} \psi + \alpha_{2} \cos^{2} \psi \quad (38)$$

give Jacobi's celebrated solution [1] (note that his  $\beta$  is  $\alpha_2 - \beta$  here).

A simple and slightly more direct derivation (including relatively explicit formulae for the  $x_i$  as ratios of elliptic  $\theta$ -functions) was presented by Weierstrass [3] (introducing conserved quantities that were discovered again 100 years later [5]). He noted that, as a consequence of the equations of motion (cp. (15))

$$\ddot{x}_{i} = -\frac{\sum_{k} \frac{\dot{x}_{k}^{2}}{\alpha_{k}}}{\sum_{l} \frac{x_{l}^{2}}{\alpha_{l}}} \frac{x_{i}}{\alpha_{i}}$$
(39)

$$\left(1+\sum_{i}\frac{x_{i}^{2}}{u-\alpha_{i}}\right)\left(\sum_{k}\frac{\dot{x}_{k}^{2}}{u-\alpha_{k}}\right)-\left(\sum_{l}\frac{x_{l}\dot{x}_{l}}{u-\alpha_{l}}\right)^{2}=\sum_{i}\frac{H_{i}}{u-\alpha_{i}}=\frac{S(u)}{Q(u)}$$

$$(40)$$

will be time-independent, hence defining N-1 constants of the motion via

$$S(u) = cu \prod_{\alpha=1}^{N-2} (u - \delta_{\alpha}),$$
<sub>N</sub>
(41)

In accordance with (cp. (24))

$$P(u) := \left(1 + \sum_{i} \frac{x_i^2}{u - \alpha_i}\right) \prod_{i} (u - \alpha_i) =: u \prod_{a=1}^{N-1} (u - u^a),$$
(42)

$$\dot{P}\Big|_{u=u^{a}} = -u^{a}\dot{u}^{a}\prod_{c}'(u^{a}-u^{c}), \qquad (43)$$

while (40), being of the form

$$\frac{P}{Q}\sum_{k}\frac{\dot{x}_{k}^{2}}{u-\alpha_{k}}-\frac{1}{4}\frac{\dot{P}^{2}}{Q^{2}}=\frac{S}{Q},$$

implying

$$\dot{P}(u^{a}) = \pm 2\sqrt{-QS}(u^{a}) = \pm 2\sqrt{R}, \qquad (44)$$

one deduces that

$$\mp \frac{u^a \,\mathrm{d}u^a}{2\sqrt{-QS}} = \frac{\mathrm{d}t}{\prod_c' \left(u^a - u^c\right)},\tag{45}$$

hence (multiplying with  $(u^a)^{s-1}$ , and using (30))

$$\sum_{a=1}^{N-1} \mp \int^{u^{a}(t)} \frac{u^{s}}{\sqrt{R(u)}} \, \mathrm{d}u = \begin{cases} 0 & \text{for } s = 1, 2, \dots, N-2, \\ 2(t-t_{0}) & \text{for } s = N-1, \end{cases}$$
(46)

with  $R(u) = -cu \prod_{i=1}^{N} (u - \alpha_i) \prod_{\alpha=1}^{N-2} (u - \delta_\alpha)$  being a time-independent polynomial of degree 2N - 1. Note that for N = 3 (c > 0,  $u^1 - \delta_1 < 0$ ) the integrability also follows from the (once observed [14] 'trivial') time-independence of

$$I = \sum_{i=1}^{N} \frac{x_i^2}{\alpha_i^2} \sum_{k=1}^{N} \frac{\dot{x}_k^2}{\alpha_k}.$$
 (47)

Among Hamiltonian treatments using the constrained embedding coordinates  $x^{i}(t)$  rather than the intrinsic  $u^{a}(t)$ , let me first mention the one using Dirac's theory of constraints: consider

$$\varphi := \frac{1}{2} \left( \sum_{i} \frac{x_i^2}{\alpha_i} - 1 \right) =: \varphi_1, \quad \pi := \sum_{i} \frac{x_i p_i}{\alpha_i} =: \varphi_2,$$

$$\{\varphi, \pi\} = \sum_{i} \frac{x_i^2}{\alpha_i^2} =: J,$$
(48)

leading to the Dirac-bracket

$$\{f,g\}_{D} := \{f,g\} - \{f,\varphi_{a}\} \chi^{ab} \{\varphi_{b},g\}$$
  
=  $\{f,g\} + \{f,\varphi\} \frac{1}{J} \{\pi,g\} - \{f,\pi\} \frac{1}{J} \{\varphi,g\},$  (49)

as the inverse of the constraint-matrix

$$\left(\chi_{ab} := \{\varphi_a, \varphi_b\}\right) = \begin{pmatrix} 0 & J \\ -J & 0 \end{pmatrix}$$
 is  $\frac{1}{J} \begin{pmatrix} 0 & -1 \\ 1 & 0 \end{pmatrix}$ .

Exercise III (cp. [12]):

$$\{x_i, x_j\}_D = 0, \quad \{x_i, p_j\}_D = \delta_{ij} - \frac{1}{J} \frac{x_i x_j}{\alpha_i \alpha_j}, \quad \{p_i, p_j\}_D = -\frac{L_{ij}}{\alpha_i \alpha_j J},$$
$$L_{ii} := x_i p_i - x_i p_i.$$

Instead of using (50) to (tediously) show the Dirac-Poisson-commutativity (.i.e. on the constrained phase-space) of the

$$F_i = p_i^2 + \sum_j \frac{L_{ij}^2}{\alpha_i - \alpha_j}$$
(51)

it is much simpler to first show (Exercise IV)

$$\left\{F_i, F_j\right\} = 0 \tag{52}$$

and then note that due to  $\{F_i,\varphi\}\approx 0$ 

$$\left\{F_i, F_j\right\}_D = 0 \tag{53}$$

trivially follows.

Let me finish this excursion with a Hamiltonian description communicated to me by Martin Bordemann [5]: Let  $\pi$  be the projection-operator onto the normal of  $\mathbb{E}$ , resp.

$$Q_{ij} = \delta_{ij} - \frac{\frac{x_i x_j}{\alpha_i \alpha_j}}{\sum_l \frac{x_l^2}{\alpha_l^2}}$$
(54)

the projection onto the tangent-space of the ellipsoid. To verify that

$$H = \frac{1}{2} \langle \vec{p}, Q\vec{p} \rangle = \frac{1}{2} \langle \vec{p}, \vec{p} \rangle - \frac{1}{2} \frac{\langle \vec{p}, A\vec{x} \rangle^2}{\langle \vec{x}, A^2 \vec{x} \rangle}, \quad A_{ij} := \delta_{ij} \frac{1}{\alpha_i}, \quad (55)$$

describes geodesic motion on  $\ensuremath{\mathbb{E}}$  one can either prove that

$$\dot{\vec{x}} = Q\vec{p}, \quad \dot{\vec{p}} = -\frac{1}{2} \langle \vec{p}, \vec{\nabla}Q\vec{p} \rangle$$
 (56)

implies  $Q\ddot{\vec{x}} = \vec{0}$  (for this one can prove that for the general case of several constraints [5]  $\varphi_1(\vec{x}) = 0, \ldots, \varphi_k(\vec{x}) = 0$  defining a submanifold,  $h_{\alpha\beta} = \vec{\nabla}\varphi_\alpha \vec{\nabla}\varphi_\beta$  pos. def.,

$$\pi_{ij} := h^{\alpha\beta} \partial_i \varphi_\alpha \partial_j \varphi_\beta, \tag{57}$$

that  $Q_{mi}\left(\partial_{i}Q_{kj}\right)Q_{jn}$  is symmetric in  $(m\leftrightarrow n)$ ; or (Exercise V)

explicitly calculate  $\ddot{\vec{x}}$  from

$$\dot{\vec{x}} = \vec{p} - \frac{\langle \vec{p}, A\vec{x} \rangle}{\langle \vec{x}, A^2 \vec{x} \rangle} A\vec{x} = \vec{p} - \gamma A\vec{x},$$
  

$$\dot{\vec{p}} = \frac{\langle \vec{p}, A\vec{x} \rangle}{\langle \vec{x}, A^2 \vec{x} \rangle} A\vec{p} - \frac{\langle \vec{p}, A\vec{x} \rangle^2}{\langle \vec{x}, A^2 \vec{x} \rangle^2} A^2 \vec{x} = \gamma A\vec{p} - \gamma^2 A^2 \vec{x}.$$
(58)

With many terms canceling, one arrives at

$$\ddot{\vec{x}} = \left( -\frac{\langle \vec{p}, A\vec{p} \rangle}{\langle \vec{x}, A^2 \vec{x} \rangle} + 2 \frac{\langle \vec{p}, A\vec{x} \rangle \langle \vec{x}, A^2 \vec{p} \rangle}{\langle \vec{x}, A^2 \vec{x} \rangle^2} - \frac{\langle \vec{p}, A\vec{x} \rangle^2}{\langle \vec{x}, A^2 \vec{x} \rangle} \langle \vec{x}, A^3 \vec{x} \rangle \right) A\vec{x} = -\dot{\gamma}A\vec{x}$$
(59)
Inserting  $\dot{\vec{x}} = \vec{p} - \gamma A\vec{x}$  (cp. (58)) into  $\langle \dot{\vec{x}}, A\dot{\vec{x}} \rangle$ , (39) becomes (59).
To then show the integrability of (55), a canonical transformation

$$ilde{\vec{x}} = \sqrt{A} ec{x}, \quad p = \sqrt{A} ec{\vec{p}}$$

is made in [5], with

$$H(\vec{x}, \vec{p}) = \tilde{H}(\tilde{\vec{x}}, \tilde{\vec{p}}) = \frac{1}{2} \frac{\langle \tilde{\vec{p}}, A \tilde{\vec{p}} \rangle \langle \tilde{\vec{x}}, A \tilde{\vec{x}} \rangle - \langle \tilde{\vec{p}}, A \tilde{\vec{x}} \rangle^2}{\langle \tilde{\vec{x}}, A \tilde{\vec{x}} \rangle} = \frac{1}{2} \frac{\check{H}(\tilde{\vec{x}}, \tilde{\vec{p}}) - 2E \langle \tilde{\vec{x}}, A \tilde{\vec{x}} \rangle}{\langle \tilde{\vec{x}}, A \tilde{\vec{x}} \rangle} + E = \hat{H}(\tilde{\vec{x}}, \tilde{\vec{p}}) + E,$$
(60)

so that  $H(\vec{x}, \vec{p}) = E = \tilde{H}(\tilde{\vec{x}}, \tilde{\vec{p}})$  corresponds to  $\hat{H} = 0$ , and then note [5] that generally

$$H(\vec{x}, \vec{p}) = \frac{G(\vec{x}, \vec{p})}{Q(\vec{x}, \vec{p})} \text{ on } G = 0 = H$$

for positive Q generates the same dynamics as G. Finally,

$$G(\vec{x}, \vec{p}) = \langle \vec{p}, A\vec{x} \rangle \langle \vec{x}, A\vec{x} \rangle - \langle \vec{p}, A\vec{x} \rangle^2 - 2E \langle \vec{x}, A\vec{x} \rangle = -\sum_i \frac{G_i}{\alpha_i},$$
(61)

with Poisson-commuting

$$G_i := 2Ex_i^2 + \sum_j \frac{L_{ij}^2}{\alpha_i - \alpha_j}$$
(62)

is Liouville-integrable.

- C.G.J. Jacobi, Note von der geodätischen Linie auf einem Ellipsoid und den verschiedenen Anwendungen einer merkwuerdigen analytischen Substitution, JRAM 19, 309–313 (1839), See also his letter to the French Academy, written on December 28, 1838, as well as his "Vorlesungen über Dynamik", given at Königsberg University 1842/43.
- F. Joachimsthal, Observationes de lineis brevissimis et curvis curvaturae in superficiebus secundi gradus, JRAM 26, 155–171 (1843)
- K. Weierstrass, Über die geodätischen Linien auf dem dreiachsigen Ellipsoid, Monatsberichte der Königlichen Preuß. Akademie der Wissenschaften zu Berlin, S. 986-997 (1861)
- C. Neumann, De problemate quodam mechanico, quod ad primam integralium ultraellipticorum classem revocatur, Crelle Journal 56, 46 (1859)
- K. Uhlenbeck, Equivariant harmonic maps into spheres, Springer Lecture Notes in Mathematics 949, 146 (1982)

- J. Moser, Various aspects of integrable Hamiltonian systems, Progess in Mathematics 8, "Dynamical Systems", 233–287, Birkhäuser (1980); J. Moser, Geometry of quadrics and spectral theory, in The Chern Symposium, 147–188, Springer, New York-Berlin (1980)
- H. Knörrer, Geodesics on the ellipsoid, Inventions math. 59, 119–143 (1980); H. Knörrer, Geodesics on quadrics and a mechanical problem of C. Neumann, J. Reine Angew. Math. 334, 69–78 (1982)
- T. Ratiu, The C. Neumann problem as a completely integrable system on an adjoint orbit, Trans. AMS. 263 no. 2 (1981)
- O. Babelon, O. and M. Talon, Separation of variables for the classical and quantum Neumann model, ArXiv: hep-th/9201035
- A.P. Veselov, Two remarks about the connection of Jacobi and Neumann integrable systems, Math. Z. 216, 337–345 (1994)

A.M. Perelomov, *A note on geodesics on ellipsoids*, ArXiv: math-ph/0203032

- Chris. M. Davison, Holger R. Dullin, Alexey V. Bolsinov, Geodesics on the Ellipsoid and Monodromy, Journal of Geometry and Physics 57, 2437–2454 (2007)
- M. Dragovic and M. Radnovic, *On closed geodesics on ellipsoids*, ArXiv: math-ph/0512092
- A.V. Boris and I.S. Mamaev, Isomorphisms of geodesic flows on quadrics, Regular and Chaotic Dynamics 14 no. 4–5 (2009)
- M. Bordemann, Exercices pour le flot géodésique d'une sous-variété riemannienne de R<sup>N</sup>, Systèmes Intégrables, (2012/13/14) UHA Mulhouse; M. Bordemann, Exercices pour l'intégrabilité du flot géodésique sur un ellipsoïd, Systèmes Intégrables, (2012/13/14) UHA Mulhouse